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Important Instructions :

1.

2.

Immediately fill in the particulars on this page of the Test
Booklet with Blue/Black Ball Point Pen.

This Test Booklet consists of three parts - Part I, Part IT and
Part ITI. Part I Aptitude Test has 50 objective type questions
consisting of FOUR (4) marks for each correct response.
Part II has 30 objective type questions of Mathematics
consisting of FOUR (4) marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use Blue/
Black Ball Point Pen only for writing particulars/marking
responses on Side-1 and Side-2 of the Answer Sheet. Part III
consists of 2 questions carrying 70 marks which are to be
attempted on a separate Drawing Sheet which is also placed
inside the Test Booklet. Marks allotted to each question are
written against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each incorrect response in Part | and Part 11, one-fourth (V)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

There is only one correct response for each question in Part I
and PartII. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
On completion of the test, the candidates must hand over
the Answer Sheet of Aptitude Test and Mathematics-Part I
& II and the Drawing Sheet of Aptitude Test-Part III
alongwith Test Booklet for Part III to the Invigilator in the
Room/Hall. Candidates are allowed to take away with
them the Test Booklet of Aptitude Test-Part I & II.

The CODE for this Booklet is L Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part I / ¥ T I
Aptitude Test / 3fr&far adieror
Directions : (For Q. 1 and 2). How many minimum number of straight lines are required to draw

the problem figure ?
fFdor: (w1 3iv2 & fom )i T4 &1 T g9T STFT B T F o7 FH G FE, Bt qren s
F STTTIHA & 7

Problem Figure / 97 371l

1.
1 19 (2) 20 3 21 4) 18
2.
(1) 10 2 9 3) 12 “4) 11
Directions : (For Q. 3 to 6). The 3 - D problem figure shows a view of an object. Identify the

correct front view, from amongst the answer figures, looking in the
direction of arrow.

fdor: (9.3 @6 & @) 3-D J¥7 3l 7 U 9% & T 599 H! fe@ran 7 &1 d% #i o
T @ §U, 39% T T 59T F1 I Hlad 4 Q@ 7w
Problem Figure / F97 3T&hid Answer Figures / 3?'\’377?;'7%/?7?'

@ 10 BH b bt

1. ] [] [] [T
]
)

AN

(2) ©) (4)

L/Page 2 SPACE FOR ROUGH WORK / T% &Td & faq sme

Page 2

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education

Problem Figure / 97 3Tl Answer Figures / 3T st

a=h {EhENiE
H==l (1 ] [ |
@ (2) 3) (4)
; = i a
P ] ] ] [
@ 2 (3) (4)

Directions : (For Q. 7 and 8). How many total number of triangles are there in the problem figure

given below ?
fFdor: (w7 3ivs & fera )i 74 51 TE F9 SHT F (Y F1 FoT &I Bt & 2

Problem Figure / 97 STl

7.

1) 13 2 11 (B) 14 4) 12
8.

1) 12 2) 10 @) 9 4) 11
L/Page 3 SPACE FOR ROUGH WORK / T% &Td & faq se
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Directions : (For Q. 9 to 11). Which one of the answer figures is the correct mirror image of the

problem figure with respect to X - X ? http://www.iitscholars.com

FEor: (.98 11 & fo@) 1 ST STFaE § T HITGT STFHT 51 T F9T 3MHIT FTX - X T Gy

TET g Ffafer g2
Problem Figure | 97 3Tld Answer Figures / 3T 377?’7%2#
X
- N A YL YA
X
(1) (2) 3) 4)
X
| | | | |
10.
| x | | | |
1) ) @) (4)
X
11.
X
1) 2 (3) 4)

Directions : (For Q. 12 and 13).  The problem figure shows the elevation of an object. Identify the

correct top view from amongst the answer figures.

fFEor: (W12 313 & @)1 797 37l o ot aeq 7 GH@ 99 @ 747 &1 3R ST 3

T 399 T& ST g7 TEAIT |
Problem Figure / F37 STIH T Answer Figures /| 3T 377;?77%/377
- T
1) (2) () @)
ya
1) 2 ®) 4)

L/Page 4

SPACE FOR ROUGH WORK / T% &4 & eI SiTe

Page 4
Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education

Directions : (For Q. 14).

e : (714 & forw ) 1

Which one of the answer figures will complete the sequence of the three
problem figures ?

W Ffa § @ FIT G STHT H 7 F97 Pl H T G STTHT
(sequence) R & ST ?

Problem Figures /| F97 sFfEr

14.

N

g -

Directions : (For Q. 15 and 16).

fdor - (715 30T 16 & fe@)1

Answer Figures / 3T st

i

N

A

i

Q)

(2)

®)

(4)

Which one of the answer figures, shows the correct view of the 3 - D

problem figure, after the problem figure is opened up ?

Problem Figure / 97 STIld

Answer Figures / 3t s

B

—~
—_
N—"

B

—

)

L

—~
N
A

O

—~
N
A

3 - D 99 3pld F Gierd T, IR TFa 4 T &l g9 HiT @& ?

17

—
W
~—

&

—
(e8]
~

]

0
N

&

0
N

L/Page 5

SPACE FOR ROUGH WORK / T% &4 & e Se

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers

Page 5



& eVidyarthi

FREE Education

Directions : (For Q. 17 to 22). Find out the total number of surfaces of the object, given below in the
problem figure.

FEor: (T 17822 & @)1 797 3pfa § [=a a%g 7 qagl 1 Fo1 G&7T T T/

Problem Figure / 97 371l

1) 12 2) 13 (B) 14 4) 15
18. %

1) 12 2 11 (3) 10 4) 13
[

1) 12 2) 14 (@) 15 @) 11
20. @

1) 16 2) 14 (@) 13 4) 15
L/Page 6 SPACE FOR ROUGH WORK / T% &Td & faq sme
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Problem Figure / 97 STl

21.

—~~
[y
N

16 Q) 14 3) 13 4) 15

22.

—

1) 15 @) 17 (3) 16 (4) 14

Directions : (For Q. 23 and 24).  One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct ?

fFdor: (w23 3iv24 & fom )1 719 &1 7 SR sTplaa & @ T sy 919 SR fowm F @aT w9 @
gv7 Tl d fodt &1 #i7 4 @8l & gwi

Problem Figure | F¥7 Sfld Answer Figures /| 3 3775:’7%/?#

1) (2)

24. é Q P

(2) ®) (4)

—~
P
~
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Directions : (For Q. 25 and 26). The problem figure shows the top view of objects. Looking in the
direction of arrow, identify the correct elevation, from amongst the

answer figures.

39T : (W25 3T 26 & fo@ )1 597 o7l & awqail &1 S0 g9 fe@ran 77 &1 R &1 feon & d@a
8U R STFaal 4 G $9%] T&l T 59T TETg/

Problem Figure / F7 37Ihld Answer Figures / 3X sHEr

OO
@§ TT* Wuwi

% | &0 (14T LT

3) )
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Directions : (For Q. 27 to 30). Find the odd figure out in the problem figures given below :
Ao : (927 @30 % @)1 79 &1 7 999 srplaa & @ fa9g sy Fard |

o OV

1) (2) ) (4)

\h\'\ >~
28. \u\ \A\u\

(1) (2) (3) (4)

(1) (2) (3) (4)
30. . Q—K

(1) (2) (3) (4)

Directions : (For Q. 31 to 33). The 3 - D problem figure shows the view of an object. Identify, its
correct top view, from amongst the answer figures.

fFEor: (W31 @33 & @)1 3-D F97 37hla & U 9% &l <@ 77 81 9% G&l ST 597
3T SFrE H G G
Problem Figure / H37 371 Answer Figures / 3T 377?77%'27?'

31. [ [ [ [

1) 2) (3) 4)
L/Page 9 SPACE FOR ROUGH WORK / T% &Td & faq se
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Problem Figure / F37 3775’?7%’ Answer Figures / 3T 377557%/2#
32. - L — L = L
(1) 2) ) 4)
33. T ]
(1) 2) (3) (4)

Directions : (For Q. 34 and 35). The problem figure shows the top view of an object. Identify the

correct elevation, from amongst the answer figures, looking in the
direction of arrow.

feor: (W 34 3735 & f@) 1 397 sl o ot aag 7 S50 599 fe@rar 7 &1 Y #1 oo 7

ET GU SR Hla 4 G 59%] g TG 59 YgANT |

Problem Figure / Answer Figures / 3X st

g Sl

34.

s (O

f

Q) (2) 3) (4)

1) (2) ©) (4)
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36. Fatehpur Sikri was built by : 36. Whdgql HiR ! ST o
(1) Akbar (1) 3The A
(2) Humayun 2) T
(3) Shah Jahan (3) TSR
(4) Jahangir (4) SRR
37. Who among the following is not an | 37. T8 ¥ HMH-Hl aRGHR Tal € ?
architect ?
(1) M.F. Hussain (1) THTE gF
(2) Hafiz Contractor (2) THS Eapny
(3) Raj Rewal (3) TS @
(4) Zaha Hadid (4) SEIEEIR
38. What secondary colour is obtained by | 38. i 3R @rat TN &l o1mq9 # foam & HiAe
mixing blue and red colours ? oy (secondary) 1 fherm ?
(1) Purple (1) ST
(2) Orange (2) AR
(3) Brown 3) Hu
(4) Pink (4) TSt
39. Lotus Temple in Delhi was built by : 39. fooedl w1 wilew wf<t foram sm on ?
(1) Jains 1) SfEia
(2) Bahais (2) @mEEdl A
(3) Muslims (3) wEfaH A
(4) Jews (4) el |
40. Which one of the following is not a | 40. fT=ifehd H | FH-T FH=A AA 7 @ell ?
matching set ?
(1) Washington - White House (1) IRETeT - =MEe ¥
(2) Egypt - Mississippi River (2) Toe - faEifad sfen
(3) England - 10 Downing Street (3) ITiE - 10 THHT Hie
(4) San Francisco - Golden Gate Bridge (4) 97 HIFEH! - TMeed 712 fost
L/Page 11 SPACE FOR ROUGH WORK / T®% &Td & faq we

Page 11

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education

41. Which one of the following is not an | 41. f¥=iiferd g | | wmE- &Y forkige 872
earthquake resistant structure ?
(1) Load bearing brick walls building (1) ¥R kA aTelt 32l i IR i TARA
(2) Steel framed building (2) I % %H F o+ AR
(3) Timber framed building (3) WSl % WA | Il TARA
(4) RCC framed structure (4) SELH. HH & g

42. Which one of the following is an odd | 42. TT=if&d ¥ & a1 §q=7 9 T2 @l ?
match ? http://www.iitscholars.com
(1) Ozone layer - UV rays (1) 3siH o1 wa - .. freo
(2)  Shrinking Polar Caps - Earthquake (2) et 2t @ fageT - gy
(3) Tsunami - Oceanic Earthquake (3) Gl - HEEIRE Y
(4) Deforestation - Climate change (4) -SRIV - ey, IEdd

43. Which one of the following is an odd | 43. TTH | HE-A qq= Tl &l @t ?
match ?
(1) Cold and Dry - Ladakh (1) 3R g@1 - T_E
(2) Temperate - Shimla (2) ¥ (Temperate) - fereet
(3) Hot and Dry - Jaisalmer (3) TRH 3R & - AR
(4) Hot and Humid - Chennai (4) TRY AR TH - <

44. What is texture ? 44, A FR?
(1) A type of shape (1) T & =l AR
(2) Lines drawn in one colour (2) TH TTH O T e
(3) The way a surface looks and feels 3) T5& T = wde feadt 3R TEHH Bl

€

(4) A solid colour (4) THIE

45. Which one of the following is a sound | 45. T8 ¥ ®MH-HI, s Ted g1l B 2
reflecting material ?
(1) Jute cloth (1) 9SHT <kl &UEl
(2) Glass 2)
(3) Fabric (3) hUST
(4) Thermocol (4) R
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46. Green architecture is promoted these days | 46. 37 foAi gfd areqehett =1 Grcde feam s ?
because : ERIEDE
(1) It is environment friendly (1) I TIE & T]Fd §

(2) It lasts longer (2) IE R qH T §
(3) Green is a good colour (3) TITH TW T
(4) It costs less initially (4) THH Y H %Y @ 31 §

47. Which one of the following material | 47. TR o o H & for, fifea d§ | e
cannot be used in its original form for g1l STUHT Ho SRR § AT 8l TR
construction of walls ? Teha ?

(1) Basalt (1) <9

(2) Laterite (2) TERA (THeqEe)
(3) Granite (3) I

(4) Fly ash (4) TE TW

48. Buckingham Palace is located in : 48. fchem Yoig Fel feu@ B2
(1) London (1) wAH
(2) Geneva (2) SHenH
(3) Singapore (3) fEmTEH
(4) Paris 4) ArEH

49. Which one of the following is not a | 49. TT=Ifha & & ®H- ¥=14 T TeI @M ?
matching set ?

(1) Varanasi - Ghats (1) SR - =1
(2) Jaipur - Canals (2) SEY - TH

(3) Udaipur - Lakes (3) AR -
(4) Sundarbans - Mangroves (4) <A - BEDIC]

50. Why do large industrial buildings have | 50. ¥t SiefTen sHRA! # TSI FI W foon & 3=
high located glazing on the North side ? TR R F T S g ?

(1) To stop the workers from looking (1) M & aMEl Dl I @ F Tk 6
outside. faq

(2) To get uniform shadow - less light 2) 9 T wuE fod B % GeE =
through the day. & fag

(3) Because the sun stays on the North 3) Hifw g S feen § w7 fq wan B
side throughout the day.

(4) To getbright sunlight throughout the (4) U gd 1 o Aot 91 &k fag
day.

L/Page 13 SPACE FOR ROUGH WORK / T®% &Td & faq we

Page 13

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

51.

52.

FBEE‘E%%E.IQH> 0, is monotonically

decreasing in : http://www.iitscholars.com

a .0

M g5
@ 9
G (=)
10

@ B 4

3
LetT<9<’ﬂ' and

\/Zcot6+ 12 :K—cotel
sin“0

then K is equal to :

Educational Material Downloadd
Get CBSE Notes, Video Tutoria

52.

Part II / €T 11
Mathematics / TfuTa
51.

fix)=|x log, x|, x > 0 f5r T ¥ THfw=
FITA R, TE R

o .0
M g%
@ a9
() (e,

10
@ B

HT:IT%T<9<’IT%HQJT

\/2cot9+ '12 :K—cotG%,
sin“0

K TR
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53. Unit vectors ;, Z, Z are coplanar. | 53. qrleh Tyl ;, 1;/ Z TIAT B | Teh HTHh
A unit vector 4 is perpendicular to them. gfesr 4 =1 W @wgd R RIS
- - U g - - - | g
il x oo xd) =271 5 (7 x 7)x (cxd)_lz—1]+ K
6 3 3 6
and the angle between 2 and b is 30°, A 5 AU p F A= H B 30° T c
then ¢ is/are : %/%3
O 0O O 00 0O 0Q
o RLtiH g 2itIok
- -
OO O O OO0 0O O
i+ 2j — 2kQ i + 2j — 2kQ
2 =+ 3 2 = )
] ] ] ]
u g o t o o
F2i = 2j + kb 720 - 2j + kb
©) . ®) 5
: : ] ]
O g 0 O t O
+E|—i —2j + ZkE Ep—i 2]+ ZkE
(4) _ﬁ—g E (4) _ﬁ 3 ﬁ
54. Sum of the last 30 coefficients of powers | 54. (1 +x)% & fgug TuR # s1faw 30 91 & x &Y
of x in the binomial expansion of (1+ x)*° =Tl o T[0Tl T AT T
is:
(1) 228 (1) 028
2) 259 _ 9229 (2) 259 _ 9229
(3) 258 (3) 258
(4) 229 (4) 229
55. Consider the differential equation, | 55. g&HAT HHIHIU ydx — (x +y2)dy =0 T
ydx— (x +y%)dy=0. If for y=1, x takes R iV affy=1F fauxFAF 17,
value 1, then value of x when y=4is : Fﬁy=4a?f?ﬂixwtl'ﬁ%:
(1) 16 (1) 16
(2) 36 2) 36
(3) o4 (3) o4
4 9 4) 9
L/Page 15 SPACE FOR ROUGH WORK / T®% &Td & faq we

Page 15

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education
f=— Az flv)=—C
56. If f(x)= , 56. x)= ,
1+ ¢* 1+
f(@) f@)
I = x gl x (1=x)} dx and I = x glx (1=x)}dx qem
f(=a) f(=a)
f@) f@)
I = I gl x (1=x)} dx J' glx (1-x))dx ¢
f(=a) f(=a) I
where g is not an identity function. Then el ¢ T qoqHh Held T e I_Z FTHH
1
I
the value of E is : http://www.iitscholars.com T
1) 1)
@ 1 2 1
G -1 3) -1
1 1
4) = -
@) @ 5
57. If z is a complex number of unit modulus | 57, ¥fe ; v Gy T & fdem AT 1€ 9o
and argument 0, then the real part of z(1 — Z)
z(1-2) IV 6 T, A1 = 1+Z)Eh'rq|{q|quqm%;
Z(1+ z) *®
1) 1-sin® .8
@ sy (1) 1-sin 5
@ -2sin? 2 2 9
5 (2) —2sin 5
(3) 2 cos? 9 2 9
2 (3) 2cos 5
(4) 1+ cos 9 o
2 (4) 1+ cos 5
58. Let flx)=(x+1)2—1, x= —1, then the set | 5g. M fx)=(x+1)2-1, x= —1 2 @ Iq=E
fx s ) =F"1x)} x: ) =F"1x)} -
(1) contains exactly one element (1) Y Hdd Tk 999 2 |
(2) contains exactly two elements 2) ¥ %ad T EEE g1
(3) contains more than two elements. 3) 4 9 9 Ay 37999 T
(4) is an empty set (4) UH o 9= 2|
L/Page 16 SPACE FOR ROUGH WORK / T% &Td & faq sme
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259, gﬁg }Ojgg]?‘—l) and log,, (2*+3) are
%"t C §o ' ée terms of an A. P. for :

FREE Education
(1) exactly one real x
(2) exactly two real x
(3) more than two real x.
(4) no real x http://www.iitscholars.com

Let p and g be any two propositions.

Statement1: (p > g) <> gv ~pisa
tautology.

Statement 2 : ~(~pAg) A (pVvg) & pisa

fallacy.
(1) Both statement 1 and statement 2 are

false.

(2) Statement 1 is true and statement 2
is false.

(3) Statement 1 is false and statement 2

is true.

(4) Both statement 1 and statement 2 are
true.

1
In a AABC, if |1 =0, then
1

SO X
O Q. <

sin2A + sin?B + sin2C is :

n 2
M
(2 2
(3) &
2
9 Educational Material Downloadeg
4) 1 Get CBSE Notes, Video Tutorialg

59.

60.

61.

x & fomaa 7l & faw log,2, log, (2*—1)
dllog, ) (2% + 3) Toh THIG Il o I HANTA
T ?

(1) x % %had TH amrae AH & o |
(2) x 7 Hhad T TRATGH HAEI o fAT

(3) x o <1 9 AfYe arfoaeh A & faw|
(4) x o TRt ot ameaferer WM W fag 72

HT p T g 1S & A B |
HIT1: (p > q) & g v ~p T [TH 8

HAT2: ~(~p A Q) A (pV q) <> p TH TAHE
2l
(1)  HF 17 HYF 2 AT 3T B |

(2) HUT1TA T T FHAA 2 3TA T

(3) HUA1 FTHA § T FH 2 TA T

(4) HYT 1T FHUF 2 A TA B |

1 a b

T% AABC B, afe |1 ¢ a4/=0 %, @
1 b c

sin2A + sin?B + sin2C %\” :

n 2

M 3

(2 2

2 Page 17
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62. A biased coin with probability | 62. T sifwad fass1, faad fawu a1 &1
p, 0 <p <1, of heads is tossed until a head 1JITT:*:IWP,O<p<1%\’, T Th SSTAT Il B,
appears for the first time. If the probability STa q foh gelt ar foa 7 e S Afs 38T
that the number of tosses required is even T YA R G&A §9 B R gl
is 2 , then pisequal to: 2 %,?h TR T :

pi1seq 5 p
Y M
® Y% @
e % e %
@ % @ )
63. If the roots of the equation 63. I FHIHI
1 _|,_ 1 — 1 . . 1 + 1 =l ¢ -
x+p x+q_r are equal in magnitude x+p  x+q réo‘tgw&crmﬁw%am
and opposite in sign, then the product of foqda fodi & €, el o1 UHEA g
roots is :
1 1
M) 5 @) 1 5 @+’
1 1
() -5 @+ @ -5 @)
1 1
() -5 @-a) @) -5 @-a)
4 (P*+9) @ (P*+9)

64. If the mean and the standard deviation of | g4. =fe 10 a0l Xy, Xy oo , Xy T HIE T
10 observations x;, x,, ...... , Xjgare 2 and 3 g9 fa9dad ®HI: 2 q9T 3 g\’ il
respectively, then the mean of (@ +1)2 (+1)2 ... , (xgp+1)2 T HIEA
(x;+ 12 (p+1)% ... , (X9t 1)2 is equal T
to:

1) 14.4 (1) 14.4
2) 16.0 2) 16.0
(3) 18.0 (3) 18.0
(4) 135 (4) 13.5
L/Page 18 SPACE FOR ROUGH WORK / T% &Td & faq sme
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65. If J’%d}ﬁ f(g) +C , then | 65. zrfEJ’155Slf12x dx = f(;‘) +C 2
cos® x sin“ x cos” x cos® x sin“ x cos” x
f(x) is : http://www.iitscholars.com f(x) TR T
(1)  cosec x (1)  cosec x
(2) cotx (2) cot x
(3)  —cot x (3) —cotx
(4)  —cosec x (4)  —cosec x
66. The area bounded by the curves y2=12x | 66. dshi y2=12x A x2=12y & o= FoR &=k
and x2=12y is divided by the line x=3 in ], W@ x=3 g 1 9§ e T 2l a%
two parts. The area (in square units) of the T 1 &% (7 STl §) ¥
larger part is:
7 W
() 13% () 137/1
(3) 24% (3) 2454
(4) 14% (4) 147/1
) x—4 y—2 z—N\ ex—4 y—2 z-—N\
67. If the lines T A1 - 3 and | 67. 3fg @ T =1 - 3 LR
+2 +2 .
% =7 > = i intersect each other, then % =7 > = i WW%, A 5"
\ lies in the interval : U | feerd %, Eid
(1) (@13, 15) (1) (@13, 15)
(2) (@11, 13) (2) (11, 13)
(@) (© 11) 3) © 1)
4) (=5-3) @) (=5-3)
L/Page 19 SPACE FOR ROUGH WORK / T®% &Td & faq we
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6{ a the first quadrant lying | 68. HMI P, UH Jqute &1 T fog © S S ga
T “on iaz lé?;efgx +16y2=144, such that 9x2+16y2 =144 R feoq g a1 € 90 &
F&EQM%@WB the ellipse is inclined at g P o G TS T991 X@1 x-318 S} ¥Aeh
an angle 135° to the positive direction of faem & |1 135° T HIO IAG |, A P
x-axis. Then the coordinates of I are : frdena € - http://www.iitscholars.com
(8 @D (8 @D
S AN M 34
04 30 04 30
@ Hp @ B
e 90 a6 90
®) B 50 ®) H5 '5H
o B o B
0 3 40 o 3 40
69. Suppose that six students, including | 69. T B: foenfe=i, {579 7y qen gom witwfea
Madhu and Puja, are having six beds g % U9 UH ufed ¥ afed 9 o ¥
arranged in a row. Further, suppose that AR Y, I7 & Herw aren foaer) T8 =, @
Madhu does not want a bed adjacent to N TRl § =g fae fomnfeat =01 fqu s
Puja. Then the number of ways, the beds Tehd §, 37 1 &A1 ¢ ¢ http://www.iitscholars.com
can be allotted to students is :
(1) 480 (1) 480
(2) 600 (2) 600
(3) 384 (3) 384
(4) 264 (4) 204
70. If the point (p, 5) lies on the line | 7o 3fe fag (p, 5) T W W e TS y-318 %
parallel to the y-axis and passing through FHTAY 3 TaT IEren
the intersection of the lines 2(a2+1)x + by +4(a3+a)=0 qar
2(a’+1)x +by+4(a’+0a)=0 and (a2 +1)x —3by +2(a3+a) =0 % Hfaeag foig
(a?+1)x —3by+2(a®+a)=0, then p is @WW%,?ﬁpWﬂ'ﬁ%:
equal to :
(1) —3a 1) —3a
(2) 2a 2) 2a Page 20
(3) 3a Educational Materia! Downloa?led from(gitp/ www evidyarthi.in/
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71.

If f(x) = (x—p)(x—g)(x—r), where

p < q < r, are real numbers, then the

application of Rolle’s theorem on f leads

to:

1) (p+q+r)?>3@qr+rp+pg)
(2)  (p+q+n?<3@gr+mp+pg)
B) (p+q+nigr+rp+pg)=3
@) (p+q+n)?=3(qr+rp+pq)

71.

Ife flx)=(x —p)(x —q)(x —7) g, gl
p<g<radas @€ §, d@ F WA &
T ¥ T & firer §

(1) (p+q+r)?>3@qr+rp+pg)
(2)  (prq+n?<3(qr+rm+pg)
B) (prq+niqrtrp+pg)=3
4)  (p+q+r)?=3(qr+rp+pq)

72. The locus of the mid points of the chords | 72. WRaed x2=4py Fi Siansti, et &1 m g,
of the parabola x?=4py having slope m is o A& foigal o1 fog oy
a:
(1) line parallel to y-axis at a distance (1) Teh @1 S y—ﬂH%W%HWW@
2pm| from it. 12pm| T T W Z
(2) line parallel to y=mx, m#0 at a (2)  y=mx, m#0 % FHER @I 7 den 399
distance [2pm| from it. 12pm| T T W E
(3) circle with centre at origin and (3) wqﬁ%mwht@ﬁg%amﬁw
radius [2pm|. 12pm| B
(4) line parallel to x-axis at a distance 4) Teh YW1 € 1 x-3781 o HHIGR § q 399
2pm| from: it. 2pm| ®T T W R
B 1 if |x >2 B 1 Tfe |« > 2
73. Let f(x)=0 M , 73. = f(0=0 W
Elfz+bx2 if |x <2 Eg+bx2 afe | < 2
then f(x) is differentiable at x= —2 for : g x=-2W flx) TR g, afc
1 1 1 1
@ 4 4 an 16 (1 4 16
1 1 1 1
=—andb=— — = _—dqyph=—- —
@ 4 4 an 16 () 4 16
3 1 3 1
= — d b = — = — ?MT b = —
@) =4 4 an 16 (3 @ 4 16
3 1 3 1
=—andb= — — =2 q9bh=— —
S 4 an 16 S 4 16
L/Page 21 SPACE FOR ROUGH WORK / T®% &Td & faq we
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74. A vertical pole stands at a point A on the | 74. T3 aTe1 W& gaia Uk &t IRE™T W feem
boundary of a circular park of radius a and foig A W T AR T @l § S g
subtends an angle « at another point B on F TH T fog B W &I o Falka & gl
the boundary. If the chord AB subtends Ffq SiraT AB J1 ek o hg T I o AR
an angle a at the centre of the park, the HIAT %, T H S gT .
height of the pole is :
(1) 2a cos% tano 1) 2a cos% tano
(2) 2a sin% cota (2) 2a sin% cota
(3) 2a cos% cota (3) 2a cos% cota
(4) 2a sin% tano (4) 2a sin% tano

75. If a circle has two of its diameters along | 75. ¥fS Ts 90 o < =A™ @S x+y=>5 Al
the lines x+y=5 and x—y=1 and has x—y=17%% Tfew g o e &% 9nr
area 9, then the equation of the circle is : @ 39 I HT THRT |
1) x?+y?—6x—4y—4=0 1) x?+y?—6x—4y—4=0
() x?+y?—6x—4y+3=0 (2) x?+y?—6x—4y+3=0
(3) x?+y?—6x—4y+4=0 (B) x?+y?—6x—4y+4=0
(4) x*+y?—6x—4y—3=0 4) x’+y?—6x—4y—3=0

76. Let N be the set of natural numbers and | 76, qFT N Wieha Gt = TU= € q91 aeN &
for aeN, aN denotes the set {ax : xeN}. faT aN T9=4 {ax : xeN} T ®
If bN N cN=dN, where b, ¢, d are natural e bN A cN=dN %\—’ S bcd 19 ag}
numbers greater than 1 and the greatest Wehd GEATT & AT b T ¢ 1 HETH T
common divisor of b and c is 1, then d 1 %’ AT E
equals :
(1) min{b,c} (1) min{b,c}
(2)  be (2) be
(B) b+c (3) b+c
(4) max{b,c} (4) max{b,c}
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78.

éVi!d}?gllat‘h}f at a constant distance

p_from the origin O and meets the set of
ggg%ﬁ%u;gf&%xl (i=1,2,3) at points
A; (i=1,2,3), respectively. If planes are
drawn through A;, A,, A;, which are
parallel to the coordinate planes, then the

locus of their point of intersection is :

1.1 . 1_1
)

S
1.1 . 1_1

3 3 373

) X Xp X3 p
2 2 2_.2

(3) xj x5 +x3=p

O kO
If S = 0, keN, where N is the set of
D 10

natural numbers, then (S,)" (Sk)_l, for

neN, is :

O
@ S,
B)  San-—k

Educational Material Downloade
(4) Sy, 4+ k — 1 GetCBSE Notes, Video Tutoria

77.

78.

Teh o GHAA qaifeig O ¥ Teh TR T p W
®dl § SR i el & Th 9=
OX;(i=1,23) ® fogali A. (i=1,2 3) W
FHA: Yfawe A 81 AT Ay, Ay, A9

frceTier THael & THIR 99qd T 9 ©, a1

% yiaese foig o1 fog ua ¢
1.1 . 1_1
T

R
.1, . 1_1

3 3 37 3

@) X1 Xp X3 P

B) x + 23

afg 91Fd TEaet & wg=E N & fau

http://www.iitscholars.com
S B
k %) 1%

(S (S 1R :

keN 8, @ neN & fau

M) Sy
@ Sy,
B)  Son-k
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79.

If

§+47+46+|:ﬂ]]]+ 2 + !

23 34 45

48.49

49.50

51 1 1 10
=2 b KA+ = + = + O —
2 @1 S 50 i then

K equals : http://www.iitscholars.com

M -

2
@ 1
¢ 2
@ -1

79.

afg
48 47 46 o0 02 1

23 34 45

48.49

49.50

51 11 10
=2 b KA+ = + - + O —
2 Efl S 5o RS

K IR ©

M -
2
@ 1
G 2
W -1

80. Let f(x)=|x—x;|+|x—x,|, where x; and x, | 80. HFI f{x)=|x—x,|+|x—x,| ¥, et X A9 x,
are distinct real numbers. Then the WWWWWT@%, aﬁe‘—rﬁgaﬁﬁm
number of points at which f(x) is minimum, IERRES f(x) <1 AT =AdH %, g
is:

1 2 ® 2
2 3 2) 3
(3) more than 3 (3) 39 3fyew
4 1 4) 1
-00o0- -00o0-
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